
Slide in side panel

Installation Manual

H
C

N
-0

00
06

1-
4-

M
P

_2
-E

N

A0038 



Components

M5 x 10 Tapt (T25) 1004D 1004E-001247 100CE-001200

ST4.2 x 13 (SR-1)

Safety

Tools

SR-1 T25

2 / 12 HCN-000061-4-MP_2-EN



1.1

N
-0

00
06

1-
4/

00
08

98
-7

1.2

N
-0

00
06

1-
4/

00
08

98
-7

M5 x 10 Tapt (T25)

1004D

T25

3 / 12 HCN-000061-4-MP_2-EN



2.1

N
-0

00
06

1-
4/

00
09

33
-3

2.2

N
-0

00
06

1-
4/

00
09

33
-3

100CE-001200

4 / 12 HCN-000061-4-MP_2-EN



2.3

N
-0

00
06

1-
4/

00
09

33
-3

100CE-001200

2.4

N
-0

00
06

1-
4/

00
09

33
-3

ST4.2 x 13 (SR-1)

SR-1

5 / 12 HCN-000061-4-MP_2-EN



2.5

N
-0

00
06

1-
4/

00
09

33
-3

2.6

N
-0

00
06

1-
4/

00
09

33
-3

100CE-001200

6 / 12 HCN-000061-4-MP_2-EN



2.7

N
-0

00
06

1-
4/

00
09

33
-3

ST4.2 x 13 (SR-1)

SR-1

3.1

N
-0

00
06

1-
4/

00
09

94
-0

T25

7 / 12 HCN-000061-4-MP_2-EN



3.2

N
-0

00
06

1-
4/

00
09

94
-0

3.3

N
-0

00
06

1-
4/

00
09

94
-0

1004E-001247

8 / 12 HCN-000061-4-MP_2-EN



3.4

N
-0

00
06

1-
4/

00
09

94
-0

M5 x 10 Tapt (T25)

T25

3.5

N
-0

00
06

1-
4/

00
09

94
-0

M5 x 10 Tapt (T25)

T25

9 / 12 HCN-000061-4-MP_2-EN



3.6

N
-0

00
06

1-
4/

00
09

94
-0

3.7

N
-0

00
06

1-
4/

00
09

94
-0

10 / 12 HCN-000061-4-MP_2-EN



Notes

11 / 12 HCN-000061-4-MP_2-EN



Minkels Nederland 
Eisenhowerweg 12
Postbus 28
5460 AA Veghel
Nederland
email: info@minkels.com
tel: +31 (0)413 311 100

H
C

N
-0

00
06

1-
4-

M
P

_2
-E

N


